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1) sensseflgd seveSyellgyd srewILEGDL Fal [
&ij&:56010] 6157
A. eroLnijE

B. Q&6veyiGevmeiv

C. emaLlgsdT D. flemen@amegest

The Polysaccharide found in liver and muscles is

A. Starch B. Cellulose

C. Chaitin D. Glycogen

2) 1822 o0 spevnip FnnubS) etevim euflQsmLT
CumMLLS SIS Hemevenio Hmilwieury wj?

A. snhglwigset B. sueveouimis i @Lsv

C. flgsnepges smsnv  D. HbCuEsIT

The Sarabandi(No tax) campaign of 1922 was led
by whom?
A. Gandhji B. Vallabhai patel
C. Chittaranjan Das  D. Ambedkar

3) oGsns] grenewt GL6Veil&HE CEmesTI(HaubS
605 MedT Wy?

A @SUSetT UG B. sg60mey|SetT SHleved)

C. QuGnmepr gisens  D. umsoLesT

which sultan brought Ashoka'’s pillar to Delhi?
A. Qutub-ud-din Aibak

B. Jallaudin khilji

C. Firoshah Tuglugh

D. Balban

4) Nenmeyl1 U6TeNS5NEG Sleveug QsnHElenLuilso

A. @ Qemevstwinest Lilemeys(emhadlenLuilsv

Learning Leads To Ruling

B. 8 @emesoriimest loliL&(EhaElenLuilso
C. @ Gev eusnereys (ETH&ES emL Gl
D. @ S eueneTeysehsdlenL Gl

Rift valley is formed between ______
A. Parallel Faults B. Parallel Folds

C. Anticlines D. Synclines

5) QuNBSZIs.

1) Guaian - 1) LletT amyLiLm Smeutd

2) Siifl - 2) epSs aDFLILIT ST6vLd

3) BMeflUmkISET - 3) S4TbL UDFLILIT ST6eVLD
4) Goongz6v - 4) (Lp6dT AUDILILIT &T6vLD

abcd
A4 3 21
B.2 1 4 3
C.3 2 1 4
D.1 3 4 2
Match the following.
1) Mehargarh — Late Harappan phase
2) Amri — Mature Harappan phase
3) Kalibangan - Early Harappan phase
4) Lothal — Pre Harappan phase
a b cd
A4 3 21
B.2 1 4 3
C.3 2 1 4
D.1 3 4 2

6) Uetteupueuissemet @bHw Glgemiols Lssflulley
Quhg  opEHGCeownmey HEsD  QELWOLLL
@S Hemeveury wimj?

Page 10f 19



http://www.winmeen.com/

Group 4 GS Model Test

A 555CUBEHNBNS SMger
B. &G &lnmng unestjel)
C. RCs%

D. suneip &b&rGLTs

Which of the following Indian leader was
dismissed by the British from the Indian civil
service?

A. Sathyendranath Tagore

B. Surendranath Banerji

C.R.C.Dutt

D. Subhash Chandra Bose

7) e emeulLidler 2 sallwnev eflEGrmens L (h&6i
WH&8 iemLHlettmevt?

A. smeul_LSleoT B12 B. smeul_LSlesT B9

C. emeul_LSlest B6 D. smeaul Liblest E

The process of maturation of erythrocytes is due

A. Vitamin B12 B. Vitamin B9

C. Vitamin B6 D. Vitamin E

8) Ulesteu(peussteummiei sflwnesteng Csnmo%®:

1) 70S euems eOIBUNGFMTDEET HEMEBIHF)
UCrmGaiflwm_(hserflayib smesorliLi(H&ma.

2) 80S euems erGUIGFMLEHET IiemevTdHg|
wGasflwm_(paeflenid smewriLBE D

3) eoyGunBsmbsst Ure CHMPDHFTEn6LEHETTS
@&wesvLI(hedTmeDT.
A 1&2 wL@HD
B.3 wl @b
C.2&3 wLED

Learning Leads To Ruling
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D. siemenis gl &ifl

Choose the correct answers.

1) 70S type of ribosomes are found in all
prokaryotic cells

2) 808 type of ribosomes are found in all eukaryotic
cells

3) Ribosomes act as the protein factories of the cell
A.1&2only

B. 3 only

C.2& 3only

D. All the above

9) z%mev 1963 o Spevih HlwnslGeruLL
SMLEI6L (0 THE)IL 65T QG MLjLenL WS ?

A. blev 2 FgeuribL

B. gal (fmey LiesoTEm 670T

C. 55608 gLLILD

D. @60 5505 15Hem6m SILILGSNHETET S6TeysH6iT
Gadgil committee appointed in july 1963 to look
into ____

A. Ceiling on land holdings

B. Co-operative farming
C. Tenancy legislation
D. Measures to abolition of intermediaries
10) SpsseLeupmier sLev HEIMLLID 2 (Heuns
SITJETTTLONG SI6V6VNSF)| 6157

A. aup&8L0M6sT SHMHMIS6N

B. wsluflett sipme

C. y 18l Gfluement sueLLDd 6U(HSH6V

D. s u Qeuliublemev IMILIM(HS6TT
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Which of the following factors does not cause
ocean currents?

A. Prevailing winds

B. Rotation of the earth

C. Revolution of the earth

D. Temperature differences

11) &gjgend efleow  @ressiLmd  (PemOWNS

uzILilss GUS SN wimy?
A. efleipes) (HLUST B. gmo @LsT
C. usrm @uUsT D. gwny GusT

The Gupta ruler who repaired Sudarsana Lake for
second time

A. Vishnu Gupta
C. Budha Gupta

B. Rama Gupta
D. Kumara Gupta

12) ouflev aflapseng (HEvoNoNss LWL S
6151?

A. snevflwid smamLyrsens(h

B. Ggmpwid emamL yméeng(h

C. 21Gwnesflwid smaml rmésens(H

D. GusssfAwibd smamLrrsens(h

Which Base is used to treat acid poisoning?
A. Calcium hydroxide

B. Sodium hydroxide

C. Ammonium hydroxide

D. Magnesium hydroxide

13) £1p& s evo1L pmis6flev 6Tmhs et @B Hlwnalley

2 HusSHlwneudlevenco?
A, Swmev B. @&t
C. gmeil D. s Gevsy

Learning Leads To Ruling
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Which one of the following rivers does not
originate in India?

A.Beas B. Chenab

C. Ravi D. Sutlej

14) HevLnells @u5s spHflew  Fleus @b
B555Epe a151?

A. pleonuied swesfl  B. Qu(pHsLwest

C. &@nmestifl emaestsiv  D. miempuinev flemiy

which blood vessel begins the systemic
circulation?
A.Pulmonary artery B. Coronary sinus

C. Aorta D. Pulmonary veins

15) QunBBHSTHS HevorBLillg.
A. S1jGIgesTenIL L B. wmevensl

C. s6Seorm D. Sestestmy

Identify odd one out.
A. Argentite B. Malachite
C. Galena D. Cinnabar

16) Gwwiflemwé FlLb LNetTouhld 61HS i 6TuTIg6n
FLLS H(psHsW0 QL eflsvensv?

A. 1990 B. 1991

C.1993 D. 2000

Citizenship Act was not amended in which of the
following years?

A. 1990 B. 1991

C. 1993 D. 2000

17) @uss Healugyisseflsst  eetmeflsens
s fiunes ehu@eus) e15?
A. 155 Canens B. uneflemad s lwm

C. eSlwsislwir D. eflwGsmiesfluim
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Increase in RBC leads to

A. Anaemia B. Polycythaemia

C. Leukaemia D. Leukopenia
18) Fevmailig gseny Sgnflu (paev aflgwnay
DUPEF wmy?

A. (pseombd U&EsT B. (psevmmd amiflamry

C. wpgeombd Cxeunmwy  D. @resstmbd amiflamyy
Which one of the following ruler of Vijayanagar for
first time send an ambassador to China?
A.Bukkal B. Hariharal
D. Harihara Il

C. Devarayal

19) waneiy] SeTepienLW  1DHECHETETENSHEn6T

Cunglss Guomg e1g)?
A g sLo B. wad)
C. umel] D. gwevdl(psLd

Mahavira preached his teachings in which

language?
A. Prakrit B. Magadhi
C. Pali D. Sanskrit

20) Netreu(meuesteumisit 615 eundsmemy emioullest
wsHEW uEGHL Qunpen?

A. fleveury eompL G B. o1@wnssflwd &Gsmmen(h
C. fleveury &Semmen(h D. SiGumssflwb empL Gl
which of the following is the main component of
voter ink?

A. Silver nitrate B. Ammonium chloride

C. Silver chloride D. Ammonium nitrate

21) Fnamrenal @5 LONMLIgWl  LDEOTEUTEUTES:
IEISESASS (PaHeomu S&F wmj?
A. oi&10g) epr B. op&0

Learning Leads To Ruling
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C. usgy epr D. umsaflwiy

Which mughal ruler recognized shahu as a
Maratha King?
A. Ahmedshah
C. Bahadurshah

B. Azam

D. Faruk siyar
22) QuUNBS5Z)s.
a) (PH6L LUHS Heyestdlev - QnasmedlylLm Sam
b) @uestLeug) LSS He6vettelev - oS mITesTIS6iT
C) eesTmmeug) LsHs SHeyestele - &i&g LILsLD
d) mresETeug LSS S6lstidlev - ervgnailgmeudest
Match the following.
a) First Buddhist council — 1) Mogalliputta Tissa
b) Second Buddhist council — 2) Mahayanist
c¢) Third Buddhist council - 3) Sutta pitaka
d) Fourth Buddhist council — 4) Staviradvadims
23) &CnnGevtm 1BLLIj 61513 LwesL(HEmE?
A. B gerflullest Siemevbensens sevstLplw
B. @ @L &St Si65CTensWlenstt sevstLlwl
C. 56060 2 auililwenevd SesstLflw
D. @&flwest wpmid Nip BLessHorsstlesr Gomupliy
@euliLblemev [Hlemevemw SHessTL W
Chronometer is used to determine ____
A. To determine wavelength of colour light
B. Determine longitude of a place
C. To determine Salinity of sea
D. To find Sun and other stars surface temperature
24) fibuijel) &N SeoIHGI6Ten HNE 61517
A. Qgett pufliflgesm B, sombLlwim
C. 6oL D. o6n081Greslwim

Kimberley Mine is situated in ___
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A. South Africa
C. Canada

B. Zambia

D. Australia

25) @pHw Cxizev pemevsnud L GMILLI(HD

F758) 61517
A s755 312 B. 7551 318
C.g155 324 D. &155 328

which of the article mentions about Election
Commision of India?
A. Article 312 B. Article 318
C. Article 324 D. Article 328

26) Qeuevttemioll gLl Q&mesur(BeurliLlL Sy,6561(h

61517
A. 1965 B. 1969
C. 1970 D. 1973

Operation Flood came into the year of ___
A. 1965 B. 1969

C. 1970 D. 1973

27) Guywunss seevauj usell H&Es S
sTaIfl(Bh5 Q&nessi(h suniuBHms)?

B. w&sememe

A. 2 55 B&espId

C. wmblevraigemeney D. B&C

The impeachment of the President of India can be
initiated in

A. Supreme court of India

B. Lok sabha

C. Rajya sabha

D.B&C

28) umy-Ulenestevest 60 WIEDILOEDT +
QLgpmigevmuest &Bemmenn® = _____.

A. emmevrssT - 6 B. Gaseveury

Learning Leads To Ruling
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C. emmevrsst - 66 D. Gussmevl_

Para-phenylene diamine + Terephthaloyl chloride

gives ____
A.Nylon -6 B. Kelver
C. Nylon - 66 D. Bakelite

29) Ggrflevevr Sevteumil 6MHS  MHlEVSHSH6L
2 efteng|?

A. g SeipLsf B. 2 578 met0r_
C. &8l D. @un&geols UInGseLd

Zojila pass situated in the state of ____
A. Jammu Kashmir B. Uttarkhand

C. Sikkim D. Himachal pradesh

30) @ndHwnellesr (PHev Heufesty  GlevTTENEL
2 (Heuns&lwg)| 615)?

A. 1858 oyib pese1(® FLLID

B. 1833 oyl Ses01(f &L L1

C. 1813 Splb Spevo1® &L LI

D. 1773 b opev01(h FLLLD

which of the following Act created the first
governor general of India?
A. The Act of 1858 B. The Act of 1833

C. The Act of 1813 D. The Act of 1773

31) Qeuyds LUIHSHH Gunesty Cuariser Sewflwns
sneooTuuGEInGl. Qe Cusanrsst wenp Gumgley,
Wletteotev WHMID Qo pSwauHCoH G MLy
@&nevor(y 12,000 1SLLG 2wrsHeév SmesoriiLi(hid.
QG GIIULUULBsiten GusLb 615)?

A. Enm| GghiserT B. &mj uemL Goghisei
D. usoL Gusmhissit

C. Slnet GosmiseiT
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The puffy clouds appear in lines and clusters.
These clouds are associated with rainfall,
lightning and thunder, occurring 12,000 meters
above the sea level, which type of the cloud is
mentioned here?
A. Cirrus clouds B. Nimbus clouds
C. Cumulus clouds D. Stratus clouds

32) g16m650T S{W6TT 2 WITEU(PSS LDETITL6VID 6T6UEUMM)
SenpsELILGEIME)?

A. GLmevL_fbery

B. iemg) esoTL 601D

C. Qamflwunelen allens

D. @l oiLs Crengset

The subtropical High-pressure belt is called as

A. Doldrums B. Belt of calm

C. Coriolis force D. Horse latitude

33) @ndHwuneilés FYsMW HTHSET HLLD 6HS

p60o1(h QFHMLBISLILLLS)?
A. 1976 B. 1977
C. 1978 D. 1979

When was the social forestry project started in
India?

A. 1976 B. 1977

C. 1978 D. 1979

34) Spssevaummiet @bHwnealley LipemLOWITEDT
Quiflw sieneflevnest QFZMPHETEN6V 6157

A u@mss Qamilhamensy

B. &y Qsmglhameney

C. gewv160 QHMPHEFTEL

Learning Leads To Ruling
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D. @iy HmIb 61s& CSMPlnHameney
which is the oldest large scale Industry in India?
A. Cotton Industry
B. Sugar Industry
C. Jute Industry
D. Iron and Steel Industry
35) aiflunest gamm) 615
1) gewwiev 50 — 100 Q&S WevLY D66y 266l
LGSserflev allememuid.
2) gewwtev allenenailse 6U6TITL6V LO6TTT M.
A. 1wl (Hw B. 2 vl (hd
C.1&2 D. eigleyislevemev

Choose the correct statement.
1) Jute grows in areas of rainfall of 50 — 100 cm
2) Jute grows in well drained fertile alluvial soil

A. lonly B. 2 only

C.1&2 D. None of the above
36) 1935 — oy yev1(h PHHW SiT& FLLID LD
SUMITeT Samm)] 6157

1) wnanessTaIGET 6L SesTesTmL &l Sl (WPaLI
upSsLULLLEI

2) eunserhisefles QuLemL oyl (Pe®M

SIB(pslUBSSILLLE].
A. 1oL @b B. 2 bl (B
C.1&2 D. e1gleyislevemev

Choose the correct statement about the
Government of India Act 1935?
A. lonly B. 2only

C.1&2 D. None of the above
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36) opcvEnGEET WOHMID LU EHOFHT  pdHw
@resoiRD _____ 61607 SePESHIL[HEIMG).

A gnG@eomemu (hasT  B. LisnnGuimemu(hasiT

C. QLAGLmemuL(h&6T D. ev@uijoGLmenul (h&ei

Algae and fungi are collectively knownas ____

A. Thallophytes B. Bryophytes

C. Pteritophytes D. Spermatophytes

38) UL siewwflullett 155 SHevoTevvINy B 6TUIL_EBIETT
CaWs@weungl ____

A, eeosLnnetissT UL iguNlefl(Bbgl  S6UTern T (S)
Q&ev&mg).

B. uGpmiLnetse ULllpullefi(Bhg S6voTernTTsS)
Q&ev&mg).

C. ev&Lnnetisst  sevotesormowlled(Bhg UL lpME
Qaev&mg).

D. uGnmiLnetiger sevorevormipuileflpbg UL lpME
Q&sv&Ims).

When a glass rod is rubbed with a piece of silk
cloth ____

A. Electrons are transferred from silk to glass

B. Protons are transferred from silk to glass

C. Electrons are transferred from glass to silk

D. Protons are transferred from glass to silk

39) 1920-9pib pevoIlh HevasHMailes HemLCQUHD
@S Casflw smmiHlgen ABILIEMNE SHENEVEnLD
Smiglweur wimj?

A. waTHLT BMHH

B. Gunélevmsv Gr(m

Learning Leads To Ruling
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C. &Gy Slmns unestiel]

D. sumevrm suggLI il

Who was the president of the Indian National
Congress session held at calcutta in 19207

A. Mahatma Gandhi

B. Motilal Nehru

C. Surendranath Banerjee

D. Lala Lajpat Rai

40) SpssevTILaubmIeT SSIPBLIgedT SSTLIMLI
6T60TM)| S{6TIPSSHLILILL 6UI WITj?

A. umpdlwmy

B. au.e gL

C. &. eflguignasunggmflwimy

D. S\(mUL,T (SLoredt

Who among the following was called as Dadabhai
of Tamilnadu?

A. Bharathiyar

B. V.0.Chidambaram

C. C.Vijayaragavachariyar

D. Tiruppur kumaran

41) Spsevieaunmen  CySlwflesr  Arbg)

UL QWELIYEG p5NTONS aflenmi@eus) 618?

A. sgeumslujev anflemus

B. gn&sm mmom

C. 5Mey-2.60-087°}

D. gmjs-Q-Ggend)

Which among the following was a source for Arab
conquest of sind?

A. Jawamiul-Hikayat B.Chach-Nama

C. Taj-ul-Massir D. Tarikh-i-Daudi
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42) ysPOUHM Pen&s HEMEV(EHT 2 (HSTTEFMHIWIMF
upnfl  ueveveufHenyH 000 _____
(GILIREL GRS

A. 3 lwmesToem6v

5606l6uL(h

B. 2 581Gwemiy
C. wmoesst(51} D. w@aph&reums

The pallava inscription at ____ refers to a great
musician Rudracharya.
A. Kudimian malai  B. Utheramerur

C. Mamandur D. Mahendravadi

43) wGsuflun Grremw (GETTUILESZHID (Guilemestest
LGBHESI S LTSS GBS TESSULESDS?

A. fleti@s oot B. gmev

C. ei@umentl D. &

Quinine- a drug for treating malaria is extracted

from _____ tree.
A. Cinchona B. Saal
C. Ebony D. Oak

44) N&Csm Qusswd by rHlevsHley
QzMLMBRIsSUULLg)|?
A. Gsermm B. o8Iy UInGsebd
C. wsHw NyCsH & D. simrLsm

In which state APIKO movement was started?

A.Kerala B. Andhra pradesh

C.Madhya Pradesh  D. Karnataka

45) embyp FLLHHBSIHSSevev GLevesl GzHw
seneukal wesflwest SInGssloneuts)?

A. 62 opeug) FLLSSH([HSSLD

B. 64 opeug) FLLSSH([HSHD

C. 69 o6oug) FLLES(HSHSHD

Learning Leads To Ruling
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D. 71 opeug) LSS (HSSD

By which amendment act Delhi became the
national Capital Territory?

A.62nd Amendment Act

B. 64th Amendment Act

C. 69th Amendment Act

D. 71st Amendment Act

46) Ggettemest &EMYeT  Feowuwler  (PH6L
S60606UITTS Q(HHS6UIT WIT?
A. Qrisemswt mmwy®h  B. slifipwesslw sqwiy

C. gmogmdl pseflwmy  D. 4es1bs &MHey

Who was the first president of Madras Mahajan
sabha?

A. Rengaiah Naidu

B. Subramania Iyer

C. Ramasamy mudhaliar

D. Anandacharlu

47) BHsaL Aullstt QUwenns HymailLj S& eTevt

LIHOULLL 34,6501(h 61517
A. 1943 B. 1944
C. 1942 D. 1941

The Name of Justice party was changed as Dravida

Kazhagamin ____

A.1943 B.1944
C. 1942 D. 1941
48) QU5 1s.

a) Geudy - euulpmILI LFFHemer H8ES60
b) Qpevel) - eumiiLiLesst
C) glemd - eurL(H @(HLo6L

d) epeuevel] - BmiFF6L
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D.2 4 1 3

Match the following.

a) Neem - Destroys Intestinal worms
b) Gooseberry — Mouth ulcer

c¢) Holy basil — Dry cough

d) Country borage — Fever

a b c d
A4 3 1 2
B.3 2 4 1
cC1l1 2 3 4

D.2 4 1 3

49) SpseveTLeubmien 618 Heuy GlFsveSledT LIGvoIL
S{6V6V?

A. Q&6v Feuly 2 6v61(h

B. sessllamiser 2 6551(H

C. Qe CrnBambd 2 6v51(h

D. missor (g 8lifls6iT Siemailey Guiflweney

Which of the following is not the feature of plant
cell?

A. Presence of cell wall

B. Presence of plastids

C. Centrosome is present

D. Vacuoles are large in size

50) 155 CaevflstT &Gevmifl HLIL eT6dTEBI?

A. 13340 kcal/k
C. 13890 kcal/k

B. 11260 kcal/k
D. 11620 kcal/k
What is the calorific value of Methane?
A.13340 kcal/k B. 11260 kcal/k

Learning Leads To Ruling
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C. 13890 kcal/k D. 11620 kcal/k

51) eufl Gumss USSEHED Wy HLH HrevsHlev

sTISLILILLG)?
A. eflgguimeowisst B. opdlswm
C. unmrbg&eoT D. nregnmegest

Varipothagam book was written in the regime of

A. Vijayalaya B. Adithya

C. Paranthaka D. Rajarajan

52) 1202 — 1203 AD 6v afl& oo wHmID HAEMHST
LIL&6M6V S8 EIGEN6T IS 6eulf wmj?

A. wswgifesr usSwng &eved)

B. &g Gl

C. ®dLSetn gus

D. (ps0g) sedlesfl

Who did destroy Vikramasila and Nalanda
Universities in 1202 — 1203 ?

A. Muhammad-bin-Baktiya-khilji

B. Muhammad of Ghori

C. Qutb-ud-din Aibak

D. Muhammad of Ghajini

53) Qun(mevBTEMILD Sflwm aflHlenw
(peorQmglbseury wj?
A. LmevL_esT B. sveumiienSlwiy

C. N@ysmeivL_ D. GnGey mmibaedt

Who proposed the law of conservation of mass?

A. Dalton B. Lavoisier

C. Prowst D. J.J.Thomson
54) U sbTeu(mHeussTeurmieit SHUMNSH
QunmnHwsitenens GBS0
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A. aurslsenesst &(HLILE LD - 1961

B. fAipLiy S\pwesors FlLib - 1954

C. efleunsnggi& &L - 1869

D. 5Henss S (et HenL sl L - 2000
Which of the following is in correctly matched?
A. Dowry prohibition Act — 1961

B. Special Marriage Act — 1954

C. Divorce Act — 1869

D. Prohibition of Child Marriage Act — 2000
55) Liewstais eSS\ M(& SMesuId ____

A. s18\sneot Lissot erflliy

B. (emmeurest Lissot SierflliLy

C. w&&6T QHTENs NS SFLIL

D. 2 Huss sifsifliy

Inflation is caused by ____

A.Increase in Money supply

B. Decrease in Money supply

C. Increase in population

D. Increase in production

56) meudlnpes HApukisenst  QFetT  QPHHw
Ganaflsvaerflev (s 61 (pH6eslev Hlimiaflweursei wimj?

A. L6LEVAIITSHET B. Gempiseit

C. umesoTIpWIF&H6TT D. @nrliprgeL &6t

The Navagriha sculptures were first installed in
south Indian temples by the ____

A. Pallavas B. Cholas
C. Pandyas D. Rastrakutas

57) Ulebteu(meussreoummieit 6158 (5108 &6l
UMmEBLeTmS SHletT @resor® Siemeusserflest

2 miuleotig:emen G\ mevsI(h 6iTemment?
Learning Leads To Ruling
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1) bHUTLHS G
2) iy FLLISIWHMeL (&
3) QuNEIs B6vTE®E) (B (L

4) Qugsglenm HIMI6U6sThISETHSSTETT (S(L0
A 1&4 B.1,2&3
C. 3&4 D.1,3&4
Which of the following committee consists of
representative of both house of Parliament?
A. Estimates committee
B. Committee on sub-ordinate legislation
C. Public accounts committee

D. Committee on public undertakings

58) Geumd SPWSHST SEONOLIL (PHEST (PHEVNS
HimieuiuC L wblevid 618?

A. vsHw NGxH&D B. wamymeiglpgm
C. o9&y UInGsad  D. pmegeivgmest

The institution of Lokayukta was established first
in which state?

A. Madhyapradesh

C. Andhrapradesh

B. Maharashtra
D. Rajasthan

59) eauLUang Siflsensullencst @rufleontsg)
Higswy gmbGs Guw&eGLnesmev® Siflailss mmeir

61517

A. meubury 14,1930 B. =15@Lmury 15,1931

C. @pmeivl 16,1932 D. Q&liLibury 18,1933

Ramsay Macdonald the British Prime minister
announced the communal award on ____.
A. November 14,1930 B. October 15,1931

C. August 16, 1932 D. September 18, 1933

60) evunjetTeiv eflevIeTey 61&60T SieMAILM(GLD?
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A. aumiemio

B. uesstaissid

C. aufl efllgrisei

D. §10556uL81606IT 6U(HLOMEBTLD

Lorenz curve is a measure of

A. Poverty B. Inflation rate

C. Tax structure D. Income inequalities
61. Simplify:

(3/8)° x (3/8)*+ (3/8)°

a.2 b. %
c.3 d.1
&(H5(G 5.

(3/8)° x (3/8)"- (3/8)°
3. 2 3. Yo
@.3 . 1

62. The radius of a sector is 42 cm and its sector
angle is 60°. Find its perimeter

a. 128 cm b.44cm
c. 88 cm d. 126 cm

Qm alLs GComewmiugHullesr opmd 42 Q&.16.
HMID AG6sT enwws Camevord 60° erevfley g6t

SHMETENEUE SIT6TUTS.

1.128 cm <. 44 cm
@.88 cm rr. 126 cm
63. Simplify:

270:378

a.5:7 b.135:139
c.45:63 d.10:14
&(H5(5 5.

270:378

Learning Leads To Ruling
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31.5:7 <.135:139
8. 45:63 m.10:14

64. A and B together can complete a piece of work
in 20 days and B alone in 30 days. In how many
days can A alone complete the work?

a. 60 b. 50

c.10 d. 45

A pmib B 95, £lGwin Qemevnibgy (1 Ceuemevemnl
20 mrefleyd woHMID B wLBw Fefluns Cs
Geuemevemw 30 mrerflgyid (WigliLf etesfléd A L ([HID

seflung oibs Calenevemw eIGZHem6sT  Hertlev

(pgliumy?
1. 60 <4. 50
.10 . 45

65. In how many years will simple interest on Rs.
2500 at the rate 3% per annum be equal to the

simple interest on Rs. 1500 in 5yr at the rate of 7%

per annum?
a.5yr b.6yr
c.7yr d.8yr

epumil 25008 3% eu(bL eulipd@ Hevfl auliguilev
apw Ggmenswd epumi 150086@ 5 eugpLd 7%

(opevongm@ eupd SHevfleulpuid Fiowb  eT6dTMMEY,

Q53 4,65v1(h eTeUI6T6Y)
3. 5 opevo1(h 3. 6 opevo1(h
8. 7 46051(H . 8 pevo1(h

66. The height of a tree increases every year 1/8
times. If the present height of the tree is 64 cm
then what will be the height after 2 years?

a.76 cm b.80cm
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c.8lcm d. None of them
QI LONIONEDIZ)| 4650155 1/8 LI 2 wnwnHlng).
s5HBUNg K wNSSlest 2wnd 64 QFevsTdL LI}

stevflev 2 uEBLSS DG NImE b wrs5Hest 2 wid
eTeUGU6ITEUNS B (THE(GLD?

31. 76 Q&.15 <. 80 Q&.15

8. 81 G&.18 . @606 6]5]L51606m60

67.If A's monthly income is 40% more than that of
B. How much percent is B's income less than that
of A?

4

4
a. 28;% b. 27;%

c.252% d. 242%

Auflett 1015 eu(poNenDd Bulledt 10Mg eu(HLONETISHNS
aflL 40% ifsid. eter1Gou AufletT LOMEE(HLOMETISH NS
aflL Buflett 1on1g, eu(mLonestid eTeusueney (Senmey?

1. 282% b 272 %
8. 252% . 242 %

68. Rahul borrowed Rs. 4000 on 7" of June 2006.
And returned it on 19" August 2006. Find amount

he paid, if the interest is calculated at 5% per

annum
a. Rs. 4000 b. Rs. 3500
c.Rs. 4200 d. Rs. 4040

nm&ev 7.6.2006 iev1m) erp. 4000 sLevsL GuHM)
Siemg 19.8.2006 st Hlpou QeevisSleommy. 5%

auLlg S60oTSEILLILLLITEY Seuf QeSS Q5 nens

eTeu6U6ITEY?
<. em. 4000 4. 3500
. em. 4200 r. erp. 4040

Learning Leads To Ruling
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69. Base area of right circular cylinder is 80 cm? .
If the height is 5 cm then the Volume is
a. 400 cm? b. 16 cm?

400
d. Tcm3

c.200 cm?®
Q@ GCoiaulL 2 mememuilesT Sguss uguy 80

&.Q&.15. BT 2wnb 5 QF.15. etevflev et Hewr

366y
1. 400 cm? <4 16 cm?
@.200 cm? . em?

3
70.Volume = mr?h = m+ = *5= 400 cm® HCF. of
two numbers is 12 and their difference is 12. Find
the numbers
a. 66,78 b. 70,82
€. 94,106 d. 84,96

B erevmiseflett 15.GlLM.6u. 12 Sjeumnflett aflHHwineid
12. 311b5 6TETUTHEM6NTS SHMETUTS.

1. 66,78 4. 70, 82

8. 94,106 7. 84, 96

71. Find the value of 501 x 505.
a. 278005 b. 253005
c. 273005 d. 258005

501 x 505-6t7 0S| SMevor.
1. 278005 <4, 253005
Q. 273005 . 258005

72. The least number of square tiles required to

pave a room of size 15m 17 cm longand 9 m 2 sm

broad is
a. 902 b. 656
c.738 d. 814
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1515 17 Q&.15, 95 2 Q&5 BH6evd 26mLW QM
Seommuiles GauwiuL  Geusvonigw  18155EGHOMHS
stesuTevnilGenaullevnest #5117 aflevemevs6iT eTeueu6N6Y?
1. 902 =4, 656
@.738 . 814

73. Insert the missing number in the given series
5,10, 13, 26,29, 58,61, _______.

a. 122 b. 64

c.125 d. 128

Qan@ssuulL Gamifleo eflGULL  eessTemEsEIS:
ST600TS.

5,10, 13, 26, 29, 58,61, _______.
o1.122 Y

@.125 . 128

74.The L.C.M. of 1/3,5/6, 2/9, 4/27 is
a.1/54 b.10/27

c.20/3 d. None of these
1/3,5/6, 2/9, 4/27 —et1 15.Qlum.L0

1. 1/54 <. 10727
®.20/3 . 6186 5l6vEm6n

75. An increase of 20% in the price of mangoes
enables a person to purchase 4 mangoes less for
40. The price of 15 mangoes before increase was
a.Rs. 10 b.Rs. 15
c.Rs. 20 d.Rs. 25

wmbLpsHletT aflemev 20% Hfaflszme0 Heury 40
CHUMUSG HIT66T(S) LOMDLIMEISET (H60MD6UITESSIT6HT

aummis  (puww  eefld allemevBunmsHnS
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(pevtevtev 15 wmbupriseflest aflemev  eT6dTEvTOUNS

BOHGEGLD.
3. em. 10 . €15 15
. ¢m. 20 . €. 25

76. The area of the largest triangle that can be
inscribed in a semi-circle of radius 4 cm is

a.16 cm? b. 32 cm?
c. 64 cm? d. 128cm?

4 Qa.15Leny SpToNsE Q&ML Siemraul L SHleot
26T SeownHs Bau@uiflw  (p&EGsmevursS et
unLiueney

3. 16 5.0515 &.325.0815 §. 64850510
128 #.0&.15

77. The proposition 1(pvq) is equivalent to
a.pvqg b. Ip Alq

c.lqvig dparg

1(pvq) eT65TM FarHM|&:(S) FLOLOMETTS)

3. pvaq <. TP Alg
8.1qV1q F.PAQ
78.1f*" = 4, find the value of x

a. 4 b.5

c.3 d1

1= 4, crenfleh x-6i1 AU SegoTs,
3.4 3.5

9.3 . 1

79. A can do a certain job in 12 days. B is 60% more
efficient than A. How many days does B alone take
to do the same job.

a. 6 2days b. 6 days
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c. 7 days d. 7 "2days

A eetiueu @@ Geuemevemrw 12 prLserflev
wu&flpm. B eetiueuj Agg aflL 60% eflenpeuns
waumj eesfley, 9185 Geuemeverws B sevsfluns
6155601607 IHML_S61fl60 (igLiLIm?

3. 6 V2 Bl gei . 6 BILG6T
Q. 7 B g6l

FF. 7 Y2 BIL&6IT

80. There men, four women and Six children can
complete a work in 7 days. A woman does double
the work aman does and a child does half the work
a man does. How many women alone can
complete this work in 7 days ?

a7 b.8

c. cannot determined d. none of these

@ Geusmeverrws 3 6eTIHEBD, 4 CILIETUTS(ETHLD
wHmIb 6 HMieufsEmw C&ibgl 7 BNLsEHWD CFIg)
WYySEleIMIsHET. @Up Ut pemevor  afll
QuwLiEE QFELHopner. @@ Hmieusst pevuflest
unglCeusmevemnwt QFWIHDHMTSH6T. SiHSH GCeusmevemw
QuesstgeT LB 7 BT QFWLHMMTEHET 6T6TTMT6Y,
616,560160T G@lLI6vTTS 61T 3SiHS Geuemevemwi
Qa&eunmysen?

3.7

<. 8

Q. sev1(HLllp&s (LPleWing)

FF. @65)6UWIMEYLD B{6V6V
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81. 2019 26v8 Iyl wervid allifliiyewrie] SHevrsHesr
(World Autism Awareness Day) (WAAD)
S(HLIGILIM(HEIT 6T65T60T?

[A] Toward Autonomy and Self-Determination

[B] Assistive Technologies, Active Participation
[C] Employment: The Autism Advantage

[D] Opening Doors to Inclusive Education

What is the theme of the 2019 World Autism
Awareness Day (WAAD)?

[A] Toward Autonomy and Self-Determination

[B] Assistive Technologies, Active Participation
[C] Employment: The Autism Advantage

[D] Opening Doors to Inclusive Education

82. &mslomed ammevly [EhFEN], FSUSHev GI
Gflevwis Guppsi, a5 LTHesHD 851 2 HUsS
QewwiuGEms?
[A] Odisha

[C] Jharkhand
Kandhamal Haldi, which recently got GI tag, is

[B] West Bengal
[D] Assam

produce in which of the following states?
[A] Odisha [B] West Bengal

[C] Jharkhand [D] Assam

83. Uletteu(mesteummieit emrbs HN(H, 2-6ulett (P56v 5251
OBLOeumj&ens SIl(PsUIL[HSS 2 6iTeng|?

[A] @getr Qamflwm [B] sgLiimest

[C] &sorrr [D] sLigmsstery

Which country has decided to launch world's first
national 5G networks?
[A] @getr Qamflwm [B] sgtiuimest

[C] &sotrr [D] sLigmestery
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84. LNl L evfledr O \LIGITEITT &5 61T 6TH S

Qs remevCmns SHufleor 2 gaflujLebT, & flw

&MHsLILevD Kb sesorLibsenseaill LSS LIS
§55) eumiibsg) 61601 &6voTL Il Gl 6Tenevry?

[A] snow solar Telescope

[B] 1m Solar Telescope

[C] Way point-1 Space Telescope

[D] Hubble Space telescope

The UK researchers have used which telescope to
determine that Sun’s magnetic field is 10 times
stronger than thought?

[A] snow solar Telescope

[B] 1m Solar Telescope

[C] Way point-1 Space Telescope

[D] Hubble Space telescope

85. 2019 2.6vs Fnlevraisen HlevigHleor (The World

Wetland Day (WWD)) eniowis & (558 eT6ot651?

[A] &n@B a6 wHMID FHHevrkiseT

[B] Fryrhlevraiselr omid Liheubleme wmhHmid

[C] B> e TETEVSH DS TEET FHTIHleVEISEHT

[D] Bieé8 BaFLILD 61TameuSSmEest Fibleonige
What is the theme of the 2019 World Wetlands Day
(WWD)?

[A] Forests and Wetlands

[B] Wetlands and Climate Change

[C] Wetlands for our Future

[D] Wetlands for a Sustainable Urban

86. @ndHwneyssnesr  CGmumem  FNgGleunns
Hlwsls sl Bsiemeury wimg?

[A] Blevbu opgemflwm [B] S Gomy 2 ugwm
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[C] si7edetT My [D] sy Nygns &wom

Who has been appointed as the new Nepalese
ambassador to India?

[A] Nilambar Acharya

[B] Deep Kumar Upadhyay

[C] Arjun Karki

[D] Shankar Prasad Sharma.

87. 2evs yDMICEML Hemd  2019-memevt
S(HLIQLIM(HET 6T6dT60T?

[A] BL&E Lm@E @svemev - Not Beyond Us

[B] uprsenssemen @uflsgEs (H - Debunk the
Myths

[C] BrstT @ (B8 Gmest HMID HiTest @(HLiIGLesT - I Am
and I Will

[D] upmBBmMi S (H&5m5H6T - 2 6EuTEnEmW
Qumrige - Cancer Myths — Get the Facts

What is the theme of the 2019 World Cancer Day
(WCD)?

[A] Not Beyond Us

[B] Debunk the Myths

[C]T Am and I Will

[D] Cancer Myths — Get the Facts.

88. 26vs umppuflu Hemeowp (WHC - World
Heritage Centre) Ulstteupd ebs omblevsHlev
BimieuliuL 2 efteng)) ?
[A] G &etTement [B] GLiym(pest
[C] ygl QLeves) [D] QamevasasT

The World Heritage Centre (WHC) would be set up
at which of the following states?

[A] Chennai [B] Dehradun
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[C] New Delhi [D] Kolkata

89. 106opeug Q@HHw  sinfleflwed OB Ig6sT
S(HLIGILIN(HEIT 6T6bT60T?

[A] Reaching the Unreached through Science and
Technology

[B] Science and Technology for Human
Development

[C] Future India: Science & Technology

[D] Innovations in Science & Technology

What is the theme of the 106th edition of Indian
Science Congress (ISC-2019)?

[A] Reaching the Unreached through Science and
Technology

[B] Science and Technology for Human
Development

[C] Future India: Science & Technology

[D] Innovations in Science & Technology

90. MSME usguiljiy wsnesr RBI (gpeilsst
Semevaulj wmy?
[A] U K flestamm [B] prib Guonsssst Wlsrvmm
[C] g opevbs [D] s1fwest gmev

Who is the head of the RBI panel on MSME revival?
[A] UK Sinha [B] Ram Mohan Mishra

[C] Bindu Ananth [D] Abhiman Das

91. QevsHlwsSlevr QUMPIBNET FNFHenevisans &Ll
gmbnmL 2 GubSlnm LEher Calw aflihg WNIHEHS
QUPRRISLILILL&|?
[A] pusTestT LflgM [B] &@reip amdiym

[C] weiveuigest Aestamm [D] wBeurmed &ty
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Who has been honoured with the Kabi Samrat
Upendra Bhanja National Award for Lifetime
Achievement in Literature?

[A] Nabaghana Parida

[B] Suresh Chandra

[C] Yashwardhan Sinha

[D] Manoj Das

92. nnewieus Henmeun eumflusSHlest Hemeveunnss
Hlwidls sl (Bsimeneury wmg?

[A] il Qegufest [B] (gev8L1 5@gapsutT

[C] Bamiwrbg Lmjseur  [D] GQ&emyLy (gLomy

Who has been appointed as Chairman of Ordnance
Factory Board (OFB)?

[A] Ajay Jain [B] Kuldeep Saxena

[C] Hemant Bhargava [D] Saurabh Kumar

93. uyHgnes o (HUNSSUIULL Ko &5

S EFSH S S\ 60T SIOWEFFINSL
QummIGuHmIeiTemeury wimj?

A) &liflprey A

B) 58b&I7 £kl Gewsneus

C) wBsh&\T BNG LimesoTGL

D) dirsvams Ggreas

Who took charge as the Union Minister in the
newly formed Ministry of Jal Shakti?

A) Giriraj Singh

B) Gajendra Singh Shekhawat

C) Mahendra Nath Pandey

D) Pralhad Joshi

94. @aseomblu sal@Bmey Sieowlllest 14y6us)

2 lNHILenL BLSSIW HED 6157
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A) Un&ESTS B) Liomeivasei

C) Qu&at D) Qgammest

Which city hosted the 14th summit of
Organisation of Islamic Cooperation?

A) Baghdad
C) Mecca

B) Damascus
D) Tehran

95. 9evoTemipuiley SmevidmesT QeivLid QST
60NN, 655G FleOMWL 65T QB MLLemILW6urf?

A) sipfleflwev B) gemwwimamyi (Chef)

C) usgiflens D) eflememwim_(

Jaspal Inder Singh Kalra, who passed away
recently, was associated to which field?

A) Sports B) Chef

C) Journalism D) Science

96. emb5s GCodluiley, 29p6u5 2608 Sleueory

Sleord senLLilgssLuLLS)?

A) 39681 2 B) 39607 5

C) eg%etT 4 D) sg96tT 3

The 2nd edition of World Bicycle Day is observed
on which date?

A) June 4 B) June 5

C) June 2 D) June 3

97. (psetIPHeVNS: LSAINET W&NaT] Janflbem
urevamy efl(hg Quibmeur wim? [Bhagwan Mahavir

Ahimsa Puraskai]

[A] Narendra Patni

[B] Abhinandan Varthaman
[C] Mangal Prabhat Lodha
[D] Bhavarlal Hiralal Jain
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Who is the recipient of the first-ever Bhagwan
Mahavir Ahimsa Puraskar?

[A] Narendra Patni

[B] Abhinandan Varthaman

[C] Mangal Prabhat Lodha

[D] Bhavarlal Hiralal Jain

98. uenefls (HEHOSHEHEE weur eflguesfl
smilwsEnd QemLrkSlw @ibHw Himieued 615)?

[A] ISRO
[CI DRDO

[B] CSIR

[D] BARC

Which Indian organisation has launched a ‘Yuva
Vigyani Karyakram' for school children?

[A] ISRO
[C] DRDO

[B] CSIR

[D] BARC

99. Bj wHmId pHMed SpCevnFemesr Caevreus6iT
HimieuenisHlett (Water and Power Consultancy
Services Limited — WAPCOS) seneveniowisio,
etTeu(mid 61MhG BEHTHS6L Si6evNDHS]6T6Ng|?

[A] ugi Heves) [B] GLyn(pest
[C] Aweom [D] gesoTI981]

The headquarters of Water and Power Consultancy
Services (India) Limited (WAPCOS) is located in

which of the following cities?

[A] New Delhi [B] Dehradun
[C] Shimla [D] Chandigarh
100. 2018-19 HHwnevsngsy, QrHlwneallesr

(p6tTeTEnDll SHESFT 6TCUTIENEHIT GUIPMEIGBINE 2 66N

BrE e1g1?
[A] & [B] #6udh) @il
[C] megmenT [D] UAE
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Which country has become India's top crude oil [A]lIraq [B] Saudi Arabia
supplier in 2018-19 fiscal year? [C]Iran [D]UAE
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Group 4 VAO General Studies Model Test 5 — Answer Key

1) D 21) D 41) B 61) D 8l) B
2) B 22) D 42) A 62) A 82) A
3) C 23) B 43) A 63) A 83) A
4) A 24) A 44) D 64) A 84) B
5) A 25) C 45) C 65) C 85) B
6) B 26) C 46) A 66) C 86) A
7) A 27) D 47) B 67) A 87) C
8) D 28) B 48) C 68) D 88) D
9) B 29) A 49) C 69) A 89) C
10) C 30) B 50) A 70) D 90) A
11) D 31) C 51) D 71) B 91) D
12) A 32) D 52) A 72) D 92) D
13) D 33) A 53) B 73) A 93) B
14) C 34) A 54) D 74) C 94) C
15) B 35) B 55) A 75) D 95) B
16) C 36) B 56) B 76) A 96) D
17) B 37) A 57) C 77) B 97) B
18) A 38) C 58) B 78) B 98) A
19) A 39) D 59) C 79) D 99) A
20) A 40) C 60) D 80) A 100) A
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